AN = O

23

¥ HT5

s Mzolsl 2 (el HR)
2 SR (BIH) - HIRAY - BAS aroy p[b-L Hms2

2,719,556 2,460,814 258,742
EEE 2,485,059 2,239,555 245,504
2 Ae dEo3 29 2,206,824 1,966,320 240,504
21 23290 &8 1,754,930 1,740,430 14,500
201 2=l 51,030 41,030 10,000
01 AtR2t2itl 51,030 41,030 10,000
SELELIPS- R 1,0002+3,00004+25 6.000 0 6.000
Ol EEHF 9| 4,000%+1,0000 4,000 0 4,000
203 PR 21,500 17,000 4,500
03 AIHFTARF 21,500 17,000 4,500
ODREAl QA 15,0002 +3007H 4,500 0 4,500
2Uhel HTolEl 21t 155,609 140,009 15,600
202 of 49,828 34,228 15,600
o1 =Uhoil 13,828 10,228 3,600
OEtAl - 2 2/3lHlw 350, 0002 x6E *4 0l ?| & 2 8,400 4,800 3,600
03 Zelofyl 36,000 24,000 12,000
Ol sh2lei+, 2 of 3,000,002 %32 43| 36,000 24,000 12,000
|3 AREE i 258,785 48,381 210,404
401 AIEHIZ SO 177,384 22,884 154,500
04 AlZH 177,384 22,884 154,500
O ARY & 110,500,002 141 110,500 0 10,500
Ox3zlod & 37,000,000 14! 37,000 0 37,000
O2l2| 22 OHH A 7,000,000& 14! 7,000 0 7,000
405 TH&H3 S 68,204 12,300 55,904




EENEE
Hu:o5l2y A

el Am Q= A (Se: @)
SA - BH .S (3) - HRAY - B ol ar L HDE2

01 XAt ESFSHI 68,204 12,300 55,904

OAVAIRY EXI0 B2 HIE 7o 35,904 0 35,904

— 0t 308,000 *7JH* 124 25,872 0 25,872

—ElHIoIS 385,000& 1« 124 4,620 0 4,620

—amUED 154,008+ 1741244 1,848 0 1,848

—d - 2] 132,000 x 1 * 124 1,584 0 1,684

—WE BX ¥ 32t 165,000& * 1 124 1,980 0 1,980

ORBANBA 0.A 83 20,000,000 %141 20,000 0 20,000

A2 A3t 59,010 54,010 5,000

S8 9AIZY 2l 48,210 43,210 5,000

201 LEt2 3| 48,210 43,210 5,000

01 AtR2t2idl 48,210 43,210 5,000

O=319% BT M 5,000, 0002114 5,000 0 5,000

B2 el (AB AL H) 284,497 221,259 13,238

EEET 126,217 112,979 13,238

ol21H] 113,507 100,299 13,238

101 eIl 113,537 100,299 13,238

02 =¢ 79,885 78,473 1,412

OxlZ2=g 79,885 78,473 1,412

—53 9, 7962 221 +0BA| 2+ 122 6,583 6,466 17

—6= 8,312 x6H *x28A| 2t+12E 16,757 16,461 296

—7= 7,457 3 x8Hx28A| 2tx12& 20,045 19,690 355

—82 6,660 221 +0BA| 2+ 122 4,491 4,412 79




S A1 B AR R

X ZH -
o=

H0 HO
020

AZHI(2lSALR=)

chel: Hl (EH2 &)
SN FE - SR(E) - MRAY - BES 0l &t pJE-L HIREY
—Jls8=3 6,682F «3H*28AI 2t+ 128 6,736 6,617 119
—JIs9=3 5,993 «6H*28Al 2t x12& 12,082 11,869 213
—JIs10= 5,422« 1H»28A 2t x 128 1,822 1,790 32
—SH2REX 11,369 11,168 201
HE7S 7,457 3« 1B +67 Al 2t 128 5,996 5,890 106
Jls8= 6,682 x1H+67 Al 2tx 128 5,373 5,278 95
08 JIEtAHE= 4,262 4,121 141
OFJAZE =U225Y 6,342 x2H*28Al 2t +12& 4,262 4,121 141
09 SIAHAZZXES 29,390 17,705 11,685
ORIHAAZ 2R E = 29,150 17,465 11,685
—=0 (871,240« 18+ 122 )+(871,2402  1H «8H ) 17,425 10,455 6,970
—&0z (10,454,880 » 18 *4/12)+(6,969, 920& x 12 *4/12) 5,809 3,485 2,324
— Xt (30,320 &+ 181524 )+(30,3202 *1H +8L ) 698 455 243
—HeISAt==E (50,0002 124 %122 )+(50, 0003 x1H «82 ) 1,000 600 400
—Zi2ese (5,685 % 15A1 2t 122 )+(5,6853 x15A1 2H+8E ) 1,706 1,024 682
—IEEE= (16,257,940&%13/1,000)+( 10,617,980 x13/1,000) 350 212 138
—MEE= (16,257,940 *10/1,000)+(10,617,980& %10/1,000) 269 114 155
-0z (16,257,940@ *45/1,000)+(10,617,980& %45/ 1,000) 1,210 732 478
—AAEEREZ (16,257,940&%25.4/1,000)+( 10,617,980 *25.4/1,000) 683 388 295




